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( Business Mathematics )
Full Marks : 80 1
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : _ : €‘
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What is the value of 1°C; ?°

10C, 3 W e 2

Fill in the blank :
YTl 2, 2= T ¢

d
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where x denotes the volume of output.
TS x-q BeAlTe ARG @RI~
Fill in the blank :
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The variables associated with linear

programming problems are called
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Define a sinking fund.
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2. Answer the following questions - 2x5=10 :
‘ I
O NS O foyi ¢

(@) Write two differences between matrix |
and determinant,
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(b) Evaluate (Refy <4l :
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@) If (i) A= [‘
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(d) In what time wi]] 1,250 amount to
2 1,400 at 6% p.a.?
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T99 1,250 Bl
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(e) Find 10% term of the following
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- 1 stions : (any four)
Answer the following que iyl
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(a) Show that (el ()
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(b) If('ﬂ'ﬁ:?)A=iLz |, show tha
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00 in ten years.
aved Rs. 16,5
o H;zrclhs year after the first he saved
E 100 more than he did in the
S.cedmg year. How much did he save
pre

in the first year?
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(d)

Find sum to
n terms of the
series : following

O (TR nmeﬂmﬁ‘fﬂws
4+ 44 + 444 +

-----------
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1+ 5 Prove that -
(ﬁmqaﬁTgD
Fll=x
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(@) Find (R 1) -

e ,
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() A person borrows Rs. 20,000 at 4%
compound interest and agrees to pay
both the principal and interest in 10

qual annual instalments at the end of

each year. Find the value of each
instalment. Given (1:04)710=0-6761.

. o TR 2R 4% bedia W 09
Rs. 20,000 4I<Ca a1 S PG % 0
Wsn?t(m)ﬁmws@a?m%@@mﬁfmﬁmﬁmu

oifor! ST fee o o 7' el =i

ol =iz (1:04)710 = 0-6761.

Answer any four from the following :

10x4= 40

Mnmﬁmm@mﬁz@mwﬁﬁmmm

(@) Solve the following system of equatio'n
by Cramer’s rule:: 5

I R e FIPRAIRR0! A <Pl &

ox+y+z="7
Bl = =
x+2y-3z=-4
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(b) Evaluate (35 Refy 40 -

; 2 6. (a) A machine depreciates every year at
L2 ;‘_ =4 = | the rate of 10% of its previous value
S 28 ; and at the end of 4 years its value was

Rs. 1,31,220. Find its original value.
5
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ke At 7. (a) A shopk r purchases 50 dozen eggs
S (@ shopkeepe g

at 3 40 per dozen. Of these 40 eggs are
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found to be broken. At what price
should he sell the remaining eggs to

make a profit of 5% ? 5
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b) 1 | |
(b) f-2. men. and S boys can do half a
piece of work in 5 days and 3 men 4

: en
Oys can do one-third of it in 3 days

- the
n how many days will 9 men take

to finish it ?
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(b) A company is considering which of the
three methods of production it should
use in producing three goods A, B and
C. The amount of each good produced

by each method is shown in the

following matrix :

A B C
Method 1 (4 S 2
Mecthod2 |5 7 1
Method 3 |5 3 9

10 4 6] represents
@an

The column matrix |
the profit per unit for A, B and
that order. Using matrix multiplication,

find which method rnaximizés total

proﬁt.. 2
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(b) Show that the maximum value of X+ %

is less than its minimum value. 5

1
@4l @ x+;aerﬁémﬂiﬂﬁaﬁ%m

A |

10. (a) Find (i) average profit function, and
(iij) marginal profit function for the

| ' following total profit function (BB

P=02-120+50
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(b) ’I‘he'lﬁarginal cost (MC) of a product is (b) State four uses of LPP in Business.

MC =3x+4, where x denotes output 1) ; : ®
and the fixed cost (FC) is known to be JifieTe (3R e BIfRt I9TT S T
10 units. Find the total and average ' %

cost functions. ' 5]

Gy AR %S TT MC = 3x+ 4 @i B9
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11. (a) Solve the following LPP by graphical
method :
= LPP (51 GaIfRIss #fora st < ¢
Maximize (5% T ol zsm)

Z=0x+3y

subject to (S Fg ANATF)

2x+y <1000

x £400

y <700
x,y=0
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